\\@é\ l ﬁ Tinh phéan trim cac s6

Tén:_ Ngaythang:_ Piém:__
89 x 30% = 46 x 90% =
11 x 40% = 22 x 80% =
12 x 80% = 35 x20% =
71 x 90% = 63 x 80% =
55 x 90% = 94 x 30% =
84 x 90% = 69 x 80% =
74 x 10% = 78 x 60% =
91 x 40% = 46 x 70% =
29 x 50% = 72 x 50% =
89 x 40% = 34 x 30% =
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Tinh phan tram céc s

89 x30% = 26.7

11 x 40% = 4.4

12 X 80% = 9.6

71 x90% = 63.9

55 x90% = 49.5

84 x 90% = 75.6

74 x 10% = 7.4

91 x40% = 36.4

29 x50% = 14.5

89 x40% = 35.6

Ngay thang:

46 < 90% = 41.4

22 x80% = 17.6

35 x20% =7

63 x 80% = 50.4

94 % 30% = 28.2

69 x 80% = 55.2

78 x 60% = 46.8

46 < 70% = 32.2

72 x 50% = 36

34 x30% = 10.2
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Piém:
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